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Q| No |fZf TOGO|PLAY PLAYERS Y—F| 58 No |fZf TOGO| PLAY PLAYERS Y—F| 58

1| 1 |# 45 | 5 [ RUN| de&t 1 x 1 (% 5| 15[ RUN | /I 0| x

2 |7 1 | RUN | fnj 110 2 |® 35| 8 [ RUN [ /i -9 | x

3 |% 38 | 10 [PASS| #3# - - | x 3 |% 40| 8 | PASS | Mk - & 4 | x

2| 4 |+® 35 1 | RUN | BA 65 | © 4 | 33| 2 [ RUN [ /i 1 x
5 [# 10 | 1 | RUN| dt#t -4 x

6 |% 38 | 2 [RUN|[ deHt 8| O 5 |% 14| 9 | RUN | B% 16 [ O

6 |% 39| 1 | PASS | Mk - & 710

3| 7 |% 35 | 4 [PASS| #FH — — | x 7 |+ 21| 6 | RUN | &% 8 | O

4 8 |% 29 | 5 |PASS| @ — £F | 29| © 8 [ 11| 8 | RUN | &% -1 x

9 |# 6 6 | RUN | H -4 x 9 |&® 34| 1 RUN | /I 3O

10 |t 37 [ 10 | RUN [ /Iv#k -4 | x

11 |% 37 8 | RUN [ 7k -4 | x

12 |% 42| 8 | RUN | /I o[ x

13 |#& 17 | 10 | RUN | B&E 1 x

B | 9 |ﬁm;& 4 |ﬁ£1)131| 44.4% Bl | 13 | mus | 4 |ﬁm$| 30.8%
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Q| No |fZf TOGO| PLAY  PLAYERS Y—F| 58 No |fZi TOGO| PLAY PLAYERS Y—F| 58

4 1 |% 10 | 10 [PASS| #H — m™HF | 10| © 1 |% 42| 8 | RUN | /M -1 %

mg | 1 [mwm| 1 [mws] 10008 g | 1 [ mwm [ o [mmE| o

PR
Q | BAtAEFR | #TESRY | REERY | ATTL— BAtRIE |FL—%| FD3 BTHE #HR /Y~
1 |11:54 9:46 2:08 KO t - 23 6 1 - 46 PUNT 23
7:26 6:17 1:09 PUNT = -2 4 1 EH -0 TD 20
3:31 3:16 0:15 PUNT - 14 1 1 EH -0 TD 86
2:33 0:00 2:33 INT th - 48 7 1 % -38 FGNG 14
2 9:33 7:19 2:14 PUNT t - 12 5 2 E -0 TD 88
6:30 4:48 1:42 FUMR H-19 4 0 H - 14 FG 5
2:39 0:22 2:17 PUNT th - 25 6 3 E-0 TD 75
3 8:00 7:30 0:30 INT = -8 2 0 E -0 TD 8
2:10 0:53 1:17 KO -4 4 0 F-35 FG 6
4 8:49 8:43 0:06 PUNT f -1 1 0 f1 -0 SAF -1
7:15 6:14 1:01 PUNT - 46 4 2 E-0 TD 54
4:02 1:53 2:09 4DOWN ' -4 7 2 H-0 TD 41
0:44 0:12 0:32 PUNT - 49 4 2 B -0 TD 51
BEXE
Q | BAsREFR [ 4R TESRY | RAEERY | AITL— BASAGIE | FL—%| FD# RTHE #HR EE/Yv—F
1 9:46 7:26 2:20 PUNT B - 10 4 0 B-5 PUNT -5
6:09 3:31 2:38 KO B - 21 6 1 B - 26 PUNT 5
3:16 2:33 0:43 KO B - 25 2 1 B - 48 INT 23
2 | 12:00 9:33 2:27 FGNG B - 38 4 0 B - 44 PUNT 6
7:19 6:30 0:49 KO B -25 2 0 B -19 FUML -6
4:48 2:39 2:09 KO B -25 4 0 B - 34 PUNT 9
0:14 0:00 0:14 PUNT B - 32 3 1 B - 48 END 16
3 | 11:55 8:00 3:55 KO B - 13 8 2 B - 46 INT 33
7:23 2:25 4:58 KO B - 20 12 4 A-12 FG 68
0:53 0:00 —— KO B -25 - - B - 34 - -
4 | 12:00 8:49 4:04 End B - 34 11 3 A - 41 PUNT 34
8:35 7:15 1:20 KO B -35 4 0 B - 33 PUNT -2
6:03 4:02 2:01 KO B - 18 8 2 B - 41 4DOWN 23
1:45 0:44 1:01 KO B - 17 4 0 B - 18 PUNT 1
0:06 0:00 0:06 KO B - 34 1 0 B - 34 END 0
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